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ENGLISH VERSION

Instructions :

(1) All questions are compulsory.

(2) Marks are indicated on right side.

1 (A) Explaining exponential smoothing method write the10

importance of it.

(B) The matrix of technical coefficient of industry A and B is 10

given below. If final demand is 8 and 3 then find total

production of industry A and B :

AB

A 0.350.50??
??B 0.150.40??

OR

1 (A) Explain the method of input-output analysis for two10

industries A and B.

(B) Obtain the forecasting about production of the following10

different year taking  and initial forecast 300 :? ?0.6

Year 200220032004200520062007

Production345363382406456473

2 (A) Explain : 10

(i) Simple correlation

(ii)Partial correlation

(iii)Multiple correlation.

(B) How does partial correlation differ from multiple10

correlation ? Explain with the help of examples.

OR

rrrP???2 (A) If  then prove that 10121323

2P ?P2r ? R ? and .1.2313.2 1? P 1? P

?????????3,5,0.7,0.6rrr(B) If  then 10123 121323

Rfind  and b .12.312.3
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3 (A) What is Linear programming ? State the uses of Linear10

programming.

(B) Explain the Graphical method for determine optimum5

solution of L.P.P.

OR

3 Minimize the objective function Zxx??  with following 1512

constrains :

51050,1xxxx????1212

xxx??4and,0212

4 Do any three : 15

(i) Explain simple random sampling method.

(ii)Central limit theorem.

(iii)Explain size of sample and sampling error.

(iv)A random sample of size 100 has mean 15 and population

variance 25. Find the 95% and 99% confidence limit of
population mean.
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